AL B Al A

SN BSHHTALL
W HoolHIARA
=9 13 (EH9): & R)
S - B CRI(SI) - NISAY - BaS 01l bt e Hlm=2
F2oHSRAE A 271,392 386,038 A 114,646
SEoHEAXY 223,250 343,420 A120,170
K& 123,870 227,220 103,350
A& 123,870 227,220 A103,350
101 @124 d| 50,000 50,000 0
M IIHZ22NSES 50,000 50,000 0
NeeoiHsa XA 212
100, 0002 x10Z *10& *53] 50,000
201 Er2Zd| 54,280 61,060 AB,780
01 At 22l 47,740 35,860 11,880
DRI 2Y APEE DY)
70,0003 *12& 840
NERA 2352 200,000 & *23] 400
DEIESE:] 60,0003 116 6,960
1=2| 60,000 3652 21,900
NAJA 29 Al 8,000 *x35 +803| 1,920
DAIEA E=D| gz
30,0002 x2CH* 12& 720
NESHaE X4 Hl dxE
15,000,000& 15,000
02 3324l 6,540 25,200 A 18,660
NRHE SYHe= 10,000+ 12& 120
NS Y HHl S22l
1,500,000 *3CH 4,500
DAIE A SaR2 10,0002 122 120
NE2oiHsE & AIRA 33 29|
100,000 123 1,200
NESHESd 88 25U M|z
60,0002 *109H 2 600
202 o4 19,590 21,160 A1,570
01 RLHOIH 3,750 5,320 A1,570
DRIA L2 ol
50,0003 *3Y 253 3,750
02 A0l 15,840 15,840 0
DEEEL] 220,0003x6H 122 15,840
22| 15,940 61,400 45,460
22| 15,940 61,400 N45,460
201 LBr249H| 4,440 8,400 A3,960
01 AtR2eld] 1,440 3,400 A1,960
NESdiHsd 22 A2 2
70,0003 123 840
DA LRFZT A
8,000& x 18 +753| 600
02 S==2| 3,000 5,000 A2,000




SN BSGHBAA L
HI: SeHIAXY
cel: el (&9 5E)
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
NESHHSE 0iFI] & Ul |KF4
250,000 * 12CH 3,000
202 04l 1,500 3,000 1,500
01 01| 1,500 3.000 A1,500
NN L2EA ol
50,0003 »1&*302 1,500
405 AtatE SH 10,000 30,000 20,000
01 AMH=ZFSHI 10,000 30,000 220,000
N2l & 234l 7
2,000,000 +5CH 10,000
He 83,440 54,800 28,640
H 83,440 54,800 28,640
101 e124H| 50,000 0 50,000
M OINZZEXNSE S 50,000 0 50,000
D=t == ) = el bl
100, 0003 * 10 102 +52] 50,000
201 2 E| 1,440 2,800 21,360
01 Ar2teltl 1,440 2,800 1,360
NaSHHIH N ARE 2
70,0002 %122 840
TIREAH LR=T 0fAI
8,000 x1& 753 600
202 OdH| 2,000 2,000
01 =LHOIHI 2,000 2,000
IHLH 2R =& 04l
50,0002 x1& *402] 2,000
401 AlZHIZ 01 30,000 50,000 220,000
01 Al&HI 30,000 50,000 220,000
NESHHSd =4 FHIAMY
10,000,000 *37H & 30,000
HY2IZH(SSHHSEAILA) 48,142 42,618 5,524
el 2| 41,412 34,138 7,274
I 2HH(F2HHBH) 41,412 34,138 7,274
101 e124d| 41,412 34,138 7,274
01 &= 41,412 34,138 7,274
NAIRIRIZR+E(62)
12, 12421 %28 #50A| 2t 122 14,549
DAIRAZ R+ (XIZ A
11,4332 =2 +50A 2+ 122 13,720
DARIAZRKE(7T=)
10,952 x2Z #50A 2« 123 13,143
Jl23H| 6,730 8,480 1,750
Jl2BH(FeH3) 6,730 8,480 A1,750
201 E=23E | 1,250 2,500 A1,250
01 AtR2t2lBl 1,250 2,500 A1,250




SN BedETAAI L
HE: HESAAY| (SSHHDE
chelr J12&sl (EER=ED)
SN - B - BRA(SH) - MRAR - BAS Ol st e HIDEZ
NEN2Y ARl 250,000 x5 1,250
202 04l 2,000 2,500 A500
01 2L AbI 2,000 2,500 AB500
NEA2g =0l 50,0002 x5 H 8 2,000
203 A=A 3,480 3,480
EEPIREEETS 480 480
1)1002! OIGt 40,0002 12 480
M EA2ILR=AH| 3,000 3,000 0
1)15¢! 0I5t 250,000 * 122 3,000




